
Possible Solutions 

The two lines graphed on the coordinate grid can each be represented by an 

equation. 

 

 

What ordered pair represents a solution to both equations? 

 

Possible Solution 1 

 Looking at the graph locate the point where the lines cross. 

 The x value is how far from zero the point is on the horizontal axis which 

would be 2. 

 The y value is how far from zero the point is on the vertical axis which would 

be 3. 

 Therefore, the point of intersection is (2, 3). 


